

⑥ $y' + y = 6e^x$, $(0, 3)$

1) $u(x) = e^{\int 1 dx} = e^x$

2) $e^x [y' + y] = e^x [6e^x]$ so $(e^x y)' = 6e^{2x}$

3) $e^x y = \int 6e^{2x} dx = 3e^{2x} + C$ so $y = 3e^x + Ce^{-x}$

if $x=0$, $y=3$ so $3 = 3 + C$ and $C=0$: $y = 3e^x$

⑦ $y' + 3x^2 y = 3x^2$, $(0, 6)$

1) $u(x) = e^{\int 3x^2 dx} = e^{x^3}$

2) $e^{x^3} [y' + 3x^2 y] = e^{x^3} [3x^2]$ so $(e^{x^3} y)' = e^{x^3} \cdot 3x^2$

3) $e^{x^3} y = \int e^{x^3} \cdot 3x^2 dx = e^{x^3} + C$ so $y = 1 + Ce^{-x^3}$

when $x=0$, $y=6$ so $6 = 1 + C$ and $C=5$: $y = 1 + 5e^{-x^3}$

⑧ $\frac{dy}{dx} = 3x^2(1-y)$, so $\int \frac{1}{1-y} dy = \int 3x^2 dx$, $-\int \frac{-1}{1-y} dy = x^3 + C$,

$-\ln(1-y) = x^3 + C$, $\ln(1-y) = -x^3 + D$, $1-y = e^{-x^3 + D} = e^D e^{-x^3} = Ae^{-x^3}$,

$y = 1 - Ae^{-x^3}$ when $x=0$, $y=6$ so $6 = 1 - A$ and $A = -5$: $y = 1 + 5e^{-x^3}$

⑨ $xy' - 2y = -x^2$, $(1, 5)$

1) $y' - \frac{2}{x}y = -x$

2) $u(x) = e^{\int -\frac{2}{x} dx} = e^{-2\ln x} = (e^{\ln x})^{-2} = x^{-2}$

3) $x^{-2} [y' - \frac{2}{x}y] = x^{-2} [-x]$ so $(x^{-2}y)' = -x^{-1}$

4) $x^{-2}y = \int -x^{-1} dx = -\ln x + C$ so $y = -x^2 \ln x + Cx^2$

when $x=1$, $y=5$ so $5 = 0 + C$ and $C=5$: $y = -x^2 \ln x + 5x^2$

⑩ $x^2 y' - 4xy = 10$, $(1, 10)$

1) $y' - \frac{4}{x}y = \frac{10}{x^2}$

2) $u(x) = e^{\int -\frac{4}{x} dx} = e^{-4\ln x} = (e^{\ln x})^{-4} = x^{-4}$

3) $x^{-4} [y' - \frac{4}{x}y] = x^{-4} [\frac{10}{x^2}]$ so $(x^{-4}y)' = 10x^{-6}$

4) $x^{-4}y = \int 10x^{-6} dx = -2x^{-5} + C$ so $y = -2x^{-1} + Cx^4$

when $x=1$, $y=10$ so $10 = -2 + C$ so $C=12$: $y = -2x^{-1} + 12x^4$

$$(10) \quad y' - 6xy = 36xe^{5x^2}, \quad (0, 5)$$

$$1) \quad \underline{u(x)} = e^{\int -6x dx} = e^{-3x^2}$$

$$2) \quad e^{-3x^2} [y' - 6xy] = e^{-3x^2} [36xe^{5x^2}] = 36xe^{2x^2} \quad \text{so } (e^{-3x^2}y)' = 36xe^{2x^2}$$

$$3) \quad e^{-3x^2}y = \int 36xe^{2x^2} dx \quad \text{let } \underline{u = 2x^2}, \quad du = 4x dx$$

$$= 9 \int e^{2x^2} \cdot 4x dx = 9 \int e^u du = 9[e^u] + C = 9e^{2x^2} + C$$

$$\text{so } \underline{y = 9e^{5x^2} + Ce^{3x^2}} \quad \text{when } x=0, y=5 \text{ so } 5 = 9 + C \text{ and } \underline{C = -4}$$

$$\boxed{y = 9e^{5x^2} - 4e^{3x^2}}$$

$$(11) \quad y' = x \cos \frac{x}{2} + \frac{y}{x}, \quad (\pi, 6\pi)$$

$$1) \quad y' - \frac{1}{x}y = x \cos \frac{x}{2}$$

$$2) \quad \underline{u(x)} = e^{\int -\frac{1}{x} dx} = e^{-\ln x} = (e^{\ln x})^{-1} = x^{-1}$$

$$3) \quad x^{-1} [y' - \frac{1}{x}y] = x^{-1} [x \cos \frac{x}{2}], \quad \text{so } (x^{-1}y)' = \cos \frac{x}{2}$$

$$4) \quad x^{-1}y = \int \cos \frac{x}{2} dx = 2 \sin \frac{x}{2} + C \quad \text{so } \underline{y = 2x \sin \frac{x}{2} + Cx}$$

$$\text{when } x = \pi, y = 6\pi \text{ so } 6\pi = 2\pi \cdot 1 + C\pi \text{ and } \underline{C = 4}$$

$$\boxed{y = 2x \sin \frac{x}{2} + 4x}$$

$$(12) \quad \underline{\frac{dN}{dt} = rN \left(1 - \frac{N}{K}\right)}$$

$$a) \quad \text{let } N = \frac{1}{y}, \quad \text{so } \frac{dN}{dt} = -\frac{1}{y^2} \cdot \frac{dy}{dt} \quad \text{and} \quad -\frac{1}{y^2} \cdot \frac{dy}{dt} = r \cdot \frac{1}{y} \left(1 - \frac{1}{Ky}\right),$$

$$\underline{\frac{dy}{dt} = -y^2 \left[r \cdot \frac{1}{y} \left(1 - \frac{1}{Ky}\right) \right] = -r \left(y - \frac{1}{K}\right) = -ry + \frac{r}{K}}$$

$$b) \quad 1) \quad \frac{dy}{dt} + ry = \frac{r}{K} \quad 2) \quad \underline{u(t)} = e^{\int r dt} = e^{rt}$$

$$3) \quad e^{rt} \left[\frac{dy}{dt} + ry \right] = e^{rt} \left[\frac{r}{K} \right] \quad \text{so } (e^{rt}y)' = \frac{1}{K} e^{rt} \cdot r$$

$$4) \quad e^{rt}y = \int \frac{1}{K} \cdot e^{rt} r dt = \frac{1}{K} \int e^{rt} \cdot r dt = \frac{1}{K} e^{rt} + C$$

$$\text{so } \underline{y = \frac{1}{K} + Ce^{-rt}}$$

$$\frac{1}{N} = \frac{1}{K} + Ce^{-rt} = \frac{1 + a e^{-rt}}{K}$$

$$\text{so } \boxed{N(t) = \frac{K}{1 + a e^{-rt}}}$$